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STHTEE BEFRXVAMILARERREER

RIERTENE RXEEREEER
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rfe M 1 & ris M 1 &
HESNF-FH (%) HESNF-FH (%)
(N) (N) C (N) (N) c
A B (B./A X 100) C D (D C x100)
1[d & & 307 3 1.0 0 0 0.0
2|15 & B 35 2 5.7 405 1 0.2
3|18 F B 200 4 20 74 1 1.4
4|2 W B 40 0 0.0 1,500 5 0.3
5% H B 106 0 0.0 244 5 2.0
6l B B 365 0 0.0 339 4 1.2
118 B B 44 2 45 50 1 2.0
8|% W B 1,323 1 0.1 0 0 0.0
9|1t K B 242 2 0.8 44 0 0.0
108 E B 661 0 0.0 22 1 45
1M £ B 1,343 2 0.1 1,176 9 0.8
121F ¥ B 2,877 11 0.4 252 3 1.2
13| = # 72 0 0.0 0 0 0.0
14| = I B 36 0 0.0 9 0 0.0
1513 B & 538 1 0.2 10 0 0.0
16| W B 293 2 0.7 62 0 0.0
17|18 )1 B 254 0 0.0 864 7 0.8
18|88 # B 210 0 0.0 376 4 1.1
9 F B8 358 0 0.0 0 0 0.0
20 ¥ & 79 1 1.3 0 0 0.0
21l B & 210 2 1.0 354 2 0.6
2|8 B B2 1,404 2 0.1 56 2 3.6
23[ & & 526 7 1.3 14 0 0.0
24|= FE B 888 4 05 410 0 0.0
BlE B OB 607 1 0.2 0 0 0.0
26| # W 381 0 0.0 274 0 0.0
21|XK Bk W 113 1 0.9 9,336 34 0.4
2lE E B 287 1 0.3 2,176 2 0.1
2|E B B 225 0 0.0 440 2 0.5
300 Fx 4 B 86 0 0.0 277 1 0.4
31|18 B B 32 0 0.0 107 2 1.9
28 B & 46 0 0.0 663 4 0.6
33[M W B 212 0 0.0 976 4 0.4
ML B B 6 0 0.0 1,077 6 0.6
By A B 13 0 0.0 6,311 28 0.4
BlE B & 132 1 0.8 10,412 22 0.2
371%8 I B 29 1 34 96 0 0.0
BB B B 689 4 0.6 284 1 0.4
NE M B 55 0 0.0 450 0 0.0
40 B & 205 7 34 2,922 21 0.7
MiE B B 15 1 6.7 7410 35 0.5
RIE B B 247 0 0.0 556 1 0.2
43|18 X & 266 4 15 436 3 0.7
Mlx o B 210 1 05 884 3 0.3
45| B B 272 2 0.7 116 1 0.9
46(F R E B 113 2 1.8 463 4 0.9
4700 8 & 281 3 1.1 0 0 0.0
EE TR A 16,933 75 0.4 51,927 219 0.4
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HESh =& (%) HESh =& (%)
(AN) (N) C (AN) (AN) C
A B (B.~A x100) C D (D~ C x100)
48[4 1R T 0 0 0.0 28,074 145 05
QM & ™ 12 0 0.0 4,082 22 0.5
50 cWZ=FE T 662 0 0.0 11,808 68 0.6
51 |F & 15 2 13.3 0 0 0.0
528 )& T 0 0 0.0 23,500 173 0.7
53[)I B T 1,587 3 0.2 8,462 41 0.5
54 A R th 0 0 0.0 66 3 4.5
55|3 & T 736 0 0.0 4,647 21 0.5
56|32 [ T 584 4 0.7 6,041 28 0.5
57E M T 600 0 0.0 12 2 16.7
s8[2a BT 0 0 0.0 10,163 61 0.6
59| & th 113 1 0.9 4,074 21 0.5
60| K BR T 0 0 0.0 15,863 59 0.4
61 |3R h 474 2 04 5,828 28 0.5
62|t F Th 485 2 0.4 3,002 24 0.8
63| LU th 116 1 0.9 1,203 3 0.2
64|[E B ™ 209 1 05 9,485 39 0.4
65[dt L i T 0 0 0.0 8,023 53 0.7
66(t8 [ 306 5 1.6 11,095 66 0.6
67|82 A ™ 0 0 0.0 1,687 10 0.6
68| fE T 141 3 2.1 0 0 0.0
69|1E JIl TH 0 0 0.0 48 2 4.2
0|5 & H 177 0 0.0 1,678 10 0.6
VN 25 0 0.0 29 0 0.0
2% M h 191 1 0.5 0 0 0.0
B3 H T 49 1 20 132 1 0.8
74l ® T 35 0 0.0 0 0 0.0
518 B T 0 0 0.0 8 0 0.0
76|88 U tH 105 3 29 0 0 0.0
7 EH 157 1 0.6 0 0 0.0
18|F #E 365 1 0.3 0 0 0.0
9|8 B ™ 166 0 0.0 0 0 0.0
0|5 B tH 138 0 0.0 0 0 0.0
s1|J]il # Th 825 1 0.1 604 6 1.0
g2|)il O 206 1 05 3,738 76 2.0
ik & W 100 0 0.0 130 1 0.8
84| B ™ 30 1 3.3 0 0 0.0
85 |#A H 520 3 0.6 0 0 0.0
86|/\E F1h 0 0 0.0 63 1 1.6
I EE T 221 1 0.5 0 0 0.0
8|2 W T 10 1 10.0 2 0 0.0
89|1%8 H ™ 110 0 0.0 72 0 0.0
|H FF T 149 0 0.0 0 0 0.0
91| R ™™ 5 0 0.0 525 4 0.8
2|[E % | 64 3 47 0 0 0.0
ik B T 94 1 1.1 220 4 1.8
%42 B th 314 1 0.3 30 0 0.0
95| & th 71 1 14 0 0 0.0
%2 H T 0 0 0.0 268 2 0.7
97|K #E W™ 211 1 0.5 6,286 12 0.2
glZ h m 325 1 0.3 401 2 0.5
W|lE B ™ 87 0 0.0 0 0 0.0
10088 A T 16 0 0.0 218 0 0.0
101 B Il 0 0 0.0 413 1 0.2
102[5 K Br 0 0 0.0 237 0 0.0
103\ B 1 0 0 0.0 262 1 0.4
10408 B& TH 6 0 0.0 3 0 0.0
105 FH 1 120 0 0.0 0 0 0.0
106|/[E & TH 334 1 0.3 4 0 0.0
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HESh =& (%) HESh =& (%)
(AN) (N) C (AN) (AN) C
B (B.~A x100) C D (D~ C x100)
107l =& 116 0 0.0 7 0 0.0
108)= B 1 89 0 0.0 31 0 0.0
109|#0 Bk LU TH 17 0 0.0 129 1 0.8
NER: 40 0 0.0 243 2 0.8
1M I 8 0 0.0 84 0 0.0
12| 8 H 126 0 0.0 212 2 0.9
113 & h 39 0 0.0 513 4 0.8
11448 1L T 0 0 0.0 115 0 0.0
115 F B 1 60 0 0.0 17 1 5.9
116l # ™™ 20 1 5.0 147 1 0.7
178 Wb 419 0 0.0 901 5 0.6
118|8 %1 H 24 2 8.3 523 1 0.2
119|A BB Kk 55 1 1.8 1,302 7 0.5
120/ E 5 127 2 1.6 936 9 1.0
21EHESD 492 3 0.6 1,209 9 0.7
122K 2 ™™ 451 4 0.9 796 4 0.5
123 & 1 6 0 0.0 4167 25 0.6
12ERE ™ 626 4 0.6 0 0 0.0
12588 2| ™ 102 5 49 0 0 0.0
126|/h 8 TH 72 1 14 102 4 3.9
1276 H tH 7 0 0.0 0 0 0.0
128|fF R ™ 24 0.0 0 0 0.0
120|F 4 B 9 0 0.0 0 0 0.0
130/ H /i mh 385 1 0.3 130 2 15
WBIXEBRTH 0 0 0.0 666 3 0.5
RBFTRE ThET 14,580 72 0.5 184,716 1,070 0.6
12 F R AKX 11 0 0.0 83 0 0.0
133 X 7 1 14.3 0 0 0.0
134(i& X 0 0 0.0 0 0 0.0
1358 18 X 1,379 5 0.4 28 1 3.6
136) % = K 24 1 42 0 0 0.0
137118 ®E K 0 0 0.0 0 0 0.0
138|F2 H X 0 0 0.0 911 8 0.9
130T & X 0 0 0.0 46 0 0.0
14015 Il X 28 0 0.0 669 4 0.6
1411 2 K 291 0 0.0 0 0 0.0
142l Kk H X 0 0 0.0 28 4 14.3
13 A AKX 0 0 0.0 106 0 0.0
1447% & X 206 0 0.0 10 0 0.0
145(f §f X 389 3 0.8 0 0 0.0
146|142 #F X 69 0 0.0 397 1 0.3
1472 B X 634 4 0.6 179 3 1.7
1484t X 13 0 0.0 62 1 1.6
149% Il X 0 0 0.0 325 3 0.9
150(fk & X 39 0 0.0 0 0 0.0
51 E X 0 0 0.0 3,539 6 0.2
152 i1 X 0 0 0.0 39 1 2.6
1538 ff X 0 0 0.0 395 10 25
154 F Il X 0 0 0.0 286 4 14
3 Al X 51 3,090 14 0.5 7,103 46 0.6
At 34,603 161 0.5 243,746 1,335 0.5
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ni=%& (%) ni=%& (%)
(N) (N) C (N) (N) c

A B (B.”A X 100) C D (D C x100)
1[d8 & & 303 1 0.3 0 0 0.0
2|15 & B 35 1 2.9 403 2 0.5
3|18 F B 195 2 1.0 70 0 0.0
4|2 W B 38 2 5.3 1,529 1 0.1
5% H B 105 0 0.0 249 0 0.0
6l B B 335 0 0.0 335 0 0.0
1|18 B B 42 1 2.4 49 0 0.0
8|% W B 1,258 7 0.6 0 0 0.0
9|1t K B 242 0 0.0 39 1 2.6
1088 E B 610 6 1.0 22 1 45
1M £ B 1,339 3 0.2 1,176 9 0.8
121F ¥ B 2,118 10 05 244 5 2.0
13| = # 72 0 0.0 0 0 0.0
148 = I B 36 0 0.0 9 0 0.0
1513 B B 530 2 0.4 10 0 0.0
16| W B 293 0 0.0 61 0 0.0
17|15 )1 & 254 1 0.4 864 1 0.1
18|88 # B 210 0 0.0 374 4 1.1
9 F B8 358 1 0.3 0 0 0.0
20 B & 79 1 1.3 0 0 0.0
21l B & 210 0 0.0 354 1 0.3
2|8 B B2 1,405 1 0.1 55 1 1.8
23[ & & 507 2 0.4 16 0 0.0
24|= FE B 890 2 0.2 410 1 0.2
BlE B OB 597 2 0.3 0 0 0.0
26| # W 382 2 05 274 0 0.0
21|XK Bk W 114 1 0.9 5,502 15 0.3
2lE E B 293 2 0.7 2,180 7 0.3
2| B B 230 2 0.9 440 2 0.5
300 Fx oy B 85 1 1.2 276 2 0.7
31|18 B B 32 0 0.0 108 0 0.0
28 B & 46 1 2.2 664 3 0.5
33[M W B 213 0 0.0 976 9 0.9
ML B B 6 0 0.0 1,211 3 0.2
By A B 13 0 0.0 6,311 23 0.4
BlE B & 132 0 0.0 10,469 7 0.1
371%8 I B 29 0 0.0 94 1 1.1
BB B B 71 0 0.0 285 0 0.0
NE M B 55 0 0.0 451 0 0.0
40 BH & 204 2 1.0 2,922 27 0.9
MiE B B 15 0 0.0 7431 34 0.5
RIE B B 247 0 0.0 558 2 0.4
43|18 X & 260 1 0.4 423 3 0.7
Mlx o B 210 2 1.0 884 2 0.2
45| B B 263 0 0.0 115 0 0.0
46(F R E B 111 0 0.0 463 6 1.3
4700 8 & 184 1 05 0 0 0.0
EE TR A 15,256 60 0.4 48,306 173 0.4
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ni=%& (%) ni=%& (%)
(AN) (N) C (AN) (AN) C

A B (B.~A X 100) C D (D~ C % 100)
48[4 1R T 0 0 0.0 28,434 32 0.1
QM & ™ 12 0 0.0 4113 9 0.2
50 cWZ=FE T 660 0 0.0 11,808 32 0.3
51 |F & 15 0 0.0 0 0 0.0
5288 JE T 0 0 0.0 23,650 75 0.3
53[)Il B T 301 1 0.3 8,468 23 0.3
s4 MR T 0 0 0.0 66 2 3.0
55| & T 737 0 0.0 4,647 3 0.1
56|32 [ T 584 2 0.3 6,041 32 0.5
57E M T 531 0 0.0 14 0 0.0
B 0 0 0.0 10,163 42 0.4
59| & Tth 113 5 4.4 4,074 36 0.9
60[ K Br T 0 0 0.0 12,450 33 0.3
61 [1R h 474 1 0.2 5,828 16 0.3
62|t F Th 0 0 0.0 3,002 23 0.8
63| LU th 116 1 0.9 1,202 6 0.5
64|[E B ™ 210 1 0.5 10,448 28 0.3
65[dt L i T 0 0 0.0 8,023 40 0.5
66(t8 [ 309 3 1.0 11,095 47 0.4
67(E X w 0 0 0.0 1,701 22 1.3
68|fK £E Th 140 2 1.4 0 0 0.0
69|1E JIl ThH 0 0 0.0 48 0 0.0
0|5 & H 177 0 0.0 1,684 3 0.2
VN 25 0 0.0 25 0 0.0
72| B th 184 0 0.0 0 0 0.0
B3 H T 46 0 0.0 131 0 0.0
74l ® th 34 0 0.0 0 0 0.0
518 B Th 0 0 0.0 8 0 0.0
76|88 U tH 105 0 0.0 0 0 0.0
Wb ETH 157 2 1.3 0 0 0.0
18|F #E 367 0 0.0 0 0 0.0
9|8 B ™ 166 0 0.0 0 0 0.0
0|5 B tH 131 0 0.0 0 0 0.0
si|)il # T 813 0 0.0 603 2 0.3
g2|)il O 206 1 05 3,738 10 0.3
3l & W 100 0 0.0 130 2 1.5
84| B ™ 30 0 0.0 0 0 0.0
85 |#H h 521 0 0.0 0 0 0.0
86|/\E Fh 0 0 0.0 63 0 0.0
I EE T 221 2 0.9 0 0 0.0
gs|E I T 7 0 0.0 3 0 0.0
898 H 109 0 0.0 73 2 2.7
|BH FF T 149 0 0.0 0 0 0.0
91| R ™™ 5 0 0.0 525 0 0.0
2|[E B m 64 2 3.1 0 0 0.0
liy B w 94 2 2.1 220 0 0.0
U B ™ 311 0 0.0 30 0 0.0
95 |[E IiF T 69 0 0.0 0 0 0.0
%2 H H 0 0 0.0 268 3 1.1
97|k E T 212 0 0.0 6,286 7 0.1
THEELEEE 325 0 0.0 401 0 0.0
W|lE B ™ 86 0 0.0 0 0 0.0
10088 A T 16 0 0.0 218 0 0.0
101/ B JIl Th 0 0 0.0 412 0 0.0
102[5 K Br 0 0 0.0 237 3 1.3
103\ B 1 0 0 0.0 263 1 0.4
10408 B& TH 6 0 0.0 3 0 0.0
1058 H th 119 0 0.0 0 0 0.0
106|/[E & TH 334 0 0.0 4 0 0.0
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ni=%& (%) ni=%& (%)
(AN) (N) C (AN) (AN) C

A B (B.~A X 100) C D (D~ C % 100)
107]f7fF = 10 117 0 0.0 7 0 0.0
108l R 1 88 0 0.0 31 1 3.2
109|#0 Bk LU TH 17 0 0.0 130 0 0.0
NER: 39 0 0.0 243 0 0.0
1M I 8 0 0.0 85 0 0.0
12| B 1 105 0 0.0 212 1 0.5
113 & h 38 0 0.0 518 6 1.2
11448 1L T 0 0 0.0 115 0 0.0
115 F B 1 60 0 0.0 17 0 0.0
116l # ™™ 20 1 5.0 147 1 0.7
178 Wb T 421 1 0.2 900 4 0.4
118|8 %1 H 22 0 0.0 530 3 0.6
1M A B (kh 56 1 1.8 1,302 12 0.9
120 & 1 133 0 0.0 936 2 0.2
21EHESD 492 1 0.2 1,215 7 0.6
122l K & 1 455 2 04 798 7 0.9
123 & 1 7 0 0.0 4167 4 0.1
12ERE ™ 630 0 0.0 0 0 0.0
12588 2| ™ 94 1 1.1 0 0 0.0
126/ B Th 72 0 0.0 101 1 1.0
127BT B 1h 7 0 0.0 0 0 0.0
128|fF R ™ 24 0 0.0 0 0 0.0
120|F 4 B 9 0 0.0 0 0 0.0
130[/ B /1 386 0 0.0 128 0 0.0
WBIXEBRTT 0 0 0.0 666 4 0.6
REFTREThET 12,691 32 0.3 182,848 587 0.3
12 F R AX 11 0 0.0 83 0 0.0
133 & X 7 0 0.0 0 0 0.0
134(i& X 0 0 0.0 0 0 0.0
1358 B/ X 0 0 0.0 28 0 0.0
136 = X 25 0 0.0 0 0 0.0
137118 B K 0 0 0.0 0 0 0.0
138|f2 H X 0 0 0.0 910 10 1.1
130T & X 0 0 0.0 45 0 0.0
1400 JIIl X 28 1 3.6 669 1 0.1
14lHE B K 291 0 0.0 0 0 0.0
142K H X 0 0 0.0 28 0 0.0
1RH A AKX 0 0 0.0 106 1 0.9
144% 8 X 0 0 0.0 10 0 0.0
145(f §f X 82 0 0.0 0 0 0.0
146|142 #F X 69 0 0.0 397 0 0.0
14712 B X 634 1 0.2 179 0 0.0
1484t X 13 0 0.0 62 0 0.0
149% Il X 0 0 0.0 325 5 1.5
150(fk & X 39 0 0.0 0 0 0.0
51 E X 0 0 0.0 3,539 2 0.1
152l 31 K 0 0 0.0 39 0 0.0
1538 ff X 0 0 0.0 395 1 0.3
154 F Il X 0 0 0.0 286 1 0.3
3 Al X 51 1,199 2 0.2 7,101 21 0.3
At 29,146 94 0.3 238,255 781 0.3




